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Topic: Doubling
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Solve the problems


Q1) I had a plate of grapes. I ate half of them and had 10 left. How many did I start with?
Ans: _____________________
Q2) Mrs Conway has 24p in her pocket. Kian has twice as much as she does. How much does Kian have?
Ans:______________________
In a family: 
Ben is 5. Tom is double his age. Emma is 4 years older than Tom. Sam is half of Emma’s age. How old are the children?
	Name
	Age

	Ben
	5

	Tom
	

	Emma
	

	Sam
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Can you complete these near double problems? The first one is done for you:[image: C:\Users\Gabby\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\WQE1QG7N\MCj04417180000[1].png]
1. double 34 = 68
   34 + 35	= 68 + 1 = 69
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2. double 42 =		3. double 23 = 		4. double 34 = 		5. double 25 = 
    42 + 41	= 		    23 + 24	=		    34 + 33	=
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6. double 15 = 		7. double 47 = 		8. double 62 = 		9. double 56 = 
    15 + 14     =		    17 + 18 	= 		    12 + 13	= 		    26 + 27    =


Solve the problems


Q1) John had 45p. His sister had 1p more. How much did they have together?
Ans: _______________________

Q2) Write your own story for 60 + 61
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Topic: COUNTING.



I. Write the next numbers.
(a) 200 , 250 , 300 
(b) 950 , 1000, 1050 
(c) 550 , 600 , 650 

II. Write the next three numbers in the count.
(a) 50 , 75 , 100 
(b) 0 , 25 , 50  
(c) 125 , 150 , 175

III. Identify it as even or odd. 
(a) 21
(b) 45
(c) 18
(d) 27
(e) 64
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